FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
REDWOOD COCKTAIL BAR STOOL

DFACWA
| !
\ i)'




"JU3s s340d Y1 UO PAYIDW SIdGUINU 3Y] 0] YIIDW 10U Op 353y ‘A|UO 32Ua13fa.J Jof 240 3[GD] SIX0g JO JUSIUO) Y} Ul SIdGUINU 1D 930N

suoddng jeuoBeiq

1oddng aseg

15999 eun-

1SaUyj0Rg plepuels

(eunT 10 paepuels)

159089

Jeas

SSO|UWLIY

swe yum

(ssajwiae 10 swae yupn)
she

‘ON

Buimeaqg

uondiiosag

ySTle)

S3X04d 40 LNJLNOD

—
[a

REDWOOD COCKTAIL BAR STOOL

www. ForeverRedwood.com



*az1s uo buipuadap Aipa jjim a1pmpapy JnoA fo suoisuawiq :930N

"(sBaj ay1 01 spoddns Jeuoberp ayl yoene o)
siog % ¥ X .91/

"(1e8s ay1 01 suoddns
[euoBelp ay1 yoene o] / -sbs| ayy 01 yoddns
aseq ay) pue 1saxoeq ayl ‘1ess ayl yoene o)
siog . % € X ..9T/S

‘ON

Buimeaqg

uondiriosag

1S1T1 3d4vVMAdVvH

P| 2

REDWOOD COCKTAIL BAR STOOL

www.ForeverRedwood.com



"JU3s S34pd 3yl U0 PayIDW SIaqUINU 3y} 03 Y23DW J0U 0P 3saY| “AjUo 33Ua1afaJ Jof a4p BUIMDIQF 3y Ul SI3GUINU 1uDd 310N

suoddng jeuobeiq

1oddng aseg

15a1y08g

1ess

sba

.—mll

ON

NOILdI¥40s3d

P|3

REDWOOD COCKTAIL BAR STOOL

www.ForeverRedwood.com



Step 1: Use 5/16"" x 3 %"” bolts (A) to attach the legs (1) to the seat (2). Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

5/16 X 3 %" Bolts

Step 2: Attach the backrest (3) to the legs with 5/16”" x 3 %2"" bolts (A). Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

5/16" X 3 %" Bolts

Pl 4
REDWOOD COCKTAIL BAR STOOL
www. ForeverRedwood.com



Step 3: Attach the base support (4) to the legs with 5/16” x 3 4” bolts (A). Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

5/16” X 3 %" Bolts

Step 4: Finally, use 5/16"" x 3 %" bolts (A) to attach the diagonal supports (5) to the seat. After that, use 5/16"" x 4 2" (B) bolts
to attach to the legs. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 3 %" Bolts

5/16" X 4 %" Bolts

P| 5
REDWOOD COCKTAIL BAR STOOL
www. ForeverRedwood.com



Redwood Cocktail Bar Stool — With Arms

Redwood Cocktail Bar Stool — Armless

P| 6
REDWOOD COCKTAIL BAR STOOL
www. ForeverRedwood.com



This completes the Bar Stool assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P|7

REDWOOD COCKTAIL BAR STOOL
www. ForeverRedwood.com




